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B4t HES A | sEL o) [feugw o) | aEko | JEE® |[SEhBEw
JAL-JTAT L—F& 5t 522,277 121.4] 765507 108.5 68.2 58.2
AR JAL 258,752 1230] 330,935 106.3 78.2 67.6
JTA 220,019 122.3] 365970 101.8 60.1 50.0
RAC 39,113 107.2 62,650 99.4 62.4 57.9
JAC 4,393 122.2 5852 105.1 73.8 63.5
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FIH=% JAL/JTA 211,973 1202 269,164 104.8 78.8 68.6
RA=% JAL 38,793 125.2 50,557 100.8 76.7 61.8
=A% JAL/JTA 18,571 116.3 31,081 101.3 59.8 52.0
=E =5 JTA 42,824 133.4 61,380 95.4 69.8 49.9
FH=F"18 JAL/JTA 16,745 120.7 22,670 108.7 73.9 63.5
FH=2% JAL/JTA 8,921 1435 11,418 109.6 78.1 59.7
EA=xniE JTA 4,736 109.9 10,230 100.0 46.3 42.1
HA=E JTA 4,809 5465 10,230 7750 47.0 66.7
FE=5x18 JTA 1,894 2102 2,640 200.0 71.7 68.3
FEf=E= JTA 2,042 2585 2,640 200.0 77.3 59.6
hER =A% JTA 27,040 133.0 40,755 102.1 66.3 50.9
&L =A% JTA 7,858 130.2 10,230 103.3 76.8 60.9
M=% JTA 6,146 115.2 10,230 106.9 60.1 55.7
BHR=FEEXXE JAC 842 104.1 1,488 106.9 56.6 58.1
BBH=5# RAC/JAC 3,067 107.0 4,588 101.1 66.8 63.1
WE=Pk B&R JAC 2,326 133.8 2976 105.1 78.2 61.4
B iRET 398,587 1248| 542277 105.0 73.5 61.8
BH==0 JTA/RAC 47,237 115.9 84,560 99.9 55.9 48.2
RHm=—n18 JTA/RAC 37,416 112.0 72,830 101.1 51.4 46.4
PE=A*XE JTA/RAC 15,591 102.6 27,500 96.7 56.7 53.5
PBH=FAKH RAC 2,791 102.9 4,650 97.9 60.0 57.1
PEH=JtXE RAC 1,201 109.6 1,550 93.9 715 66.4
PEH=5BE RAC 3,070 107.8 4,650 104.5 66.0 64.0
BH=% B RAC 3,319 101.1 6,100 103.4 54.4 55.7
MmXE=1tXK RAC 1,198 115.6 1,550 100.0 77.3 66.8
AE=5EF RAC 6,512 109.4 10,700 1274 60.9 70.9
BH=Hi8 RAC 4,509 105.0 8,150 776 55.3 40.9
B NRRET 122,844 R 222,240 99.9 55.3 49.7
IR S ET 521,431 1218 764517 103.4 68.2 58.2
AR S 846 312.2 990 260.5 85.5 71.3
2 PRERE ET 522,277 1214 765,507 103.5 68.2 58.2

5*3’@42@}23 g
® N " member of




@ JTA BEFSAA—v iz JTA GROUP NEWS

<1B SR>

m— BN 5w
a
B B RAt BE() | AIEH®)
=% JTA 104 93.4
&[] =B 5 JTA 281 93.0
FH=718 JAL/JTA 78 51.9
FH=E% JAL/JTA 39 329
Hi—=aia JTA 40 127.7
EA—=E JTA 16 -
FE = JTA 160 108.6
FAINES: 15 JTA 15 62.1
NA=FRF JTA 2 925
BEHE=5 RAC/JAC 1 160.7
B RRET 767 83.6
BH==0 JTA/RAC 521 746
BEm=H1E JTA/RAC 381 92.2
PR=AKE JTA/RAC 104 97.0
AEFR—=ra K RAC 15 90.6
BEFH=1L K RAC 7 86.7
BH=5IE RAC 21 111.0
BEE—=% B[ RAC 26 96.7
mAXE=JLKX® RAC 6 119.7
TiE=55E RAC 48 98.7
BH=Hi8 RAC 14 79.7
B RERET 1,142 84.0
SERA R S5 1,909 83.8
T ER RS A 0 -
2 RIS E 1,909 83.8
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